In the given figure, the lines
labeled by 1 and 2 are,

respectively:

Select one:
Electric field lines and

equipotential lines
respectively

b. Electric Field lines
c. Equipotential lines

d. Equipotential lines
and electric field lines
respectively



1aeaiale
ke ITICI0L
mumtl{'f
e R =

Mapo




Depending on the graph,
the value of electric field (in
v/m) is:
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Select one:
a. .67

b. 0.6
c. 30
d.15.0
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In the Electric Field Mapping
experiment, the Equipotential lines
are

a. Always Perpendicular to
electric field lines

b. Always Parallel with electric
field lines

- ¢. Equipotential lines and
electric field lines are the
same thing

d. Equipotential lines and
electric fields lines can have
any relations to eachother
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Time left 0:28:31

In the Electric Field Mapping experiment, the potential difference between the anode and cathode is 30 Volt
and the distance between them is 20 cm. You are told that the potential difference between two equipotential

lines is 3 Volt. Then, the distance (in cm) between these two lines is:

a.5
b2

aed

) d. 6

) e. 45
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There is an electric field pointing from P5 to P;.

(¢

(O c. The potential difference between the anode and P, is zero.
O d. The potential difference between Py and P is zero.

_ e.There is a current in the solution from P, to P».

Clear my choice

The sliding contact is at the position labeled P along the rheostat in the Electric Field Mapping experiment. The
galvanometer reads zero when the tip of the pointer is placed vertically in the solution between the anode and
cathode at the point labeled P, . If the pointer next is placed at the point P2 in the solution and the
galvanometer's pointer deflects, this means that:

_ a. Pyand P, are not at the same potential and the potential difference between P and P, is zero.
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Time left 0:26:16

In the Electric Field Mapping experiment, the anode is placed along the y-axis with its center at x = 0 cm,
parallel to the cathode with its center at  x = 20 cm, and the potential difference between them s 25 V. The
cathode and anode each have a length of 20 cm. Then the potential difference (in V) as you go from the point
with coordinates (6 cm, 5 cm) to the point with coordinates (10 cm, -5 cm) is:

O a.l2b

O b.-10

® c.5

O d.-5

O e-125

Clear my choice
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